CENTRALAB PRINTED CIRCUITS

PC-2
. SINGLE RESISTOR
$ .35 LIST
R = 2 Meg
PC-21
" L DUAL RESISTOR
w Ry = 500K $ 50 LIST
Ro = 110K
. PC-30
RESISTOR-CAPACITOR
l "‘l R; = 240K $ .50 LIST
C, = 1000 mmf.
r a PC-33
RESISTOR-CAPACITOR
Ri = | Meg $ .50 LIST
C; = 1000 mmf,
] PC'36
RESISTOR-CAPACITOR
,l ‘;’; ’ Ry = 100K $ .50 LIST
Ci = 100 mmf.
PC-50
_L_l_j R = 47K FILPEC
— $ .60 LIST
T(‘ R ‘2-1— Ci 100 mmf.
i Co = 100 mmf,
Y PC-51
§ = FILPEC
a Q@ C; = 150 mmf{. $ .60 LIST

Co = 150 mmf.




CENTRALAB PRINTED CIRCUITS

PC-52
FILPEC
T80T R — 47K $ .60 LIST
C; = 50 mmf.
Co = 50 mmf.
| PC-70
i Ry = 500K MIDGET COUPLATE
al ¥ R, = 500K $ .70 LIST
C1 = 5000 mmf.
4 Co plus C3 = 250 mmf.
GROUND
PC-71
MIDGET COUPLATE
T Zu R, — 250K § .70 LIST
Ro = 500K
A Cy = 5000 mmf.
GROUND Cs plus C3 = 250 mmf,
PC-80

=1 STANDARD COUPLATE

-
%L 3 $ .75 LIST
Rl R2
@ a Ry = 500K
Ro — 500K
) . : Ci = .01 mfd.

o Co plus C3 = 250 mmf.

PC-81

STANDARD COUPLATE

$ .75 LIST
a a Ry = 250K
Ro = 500K
RO Ci = .0l mfd.

1 .
i

Co plus C3 = 250 mmf,

M b
gu
-

PC-90
L PENTODE
T $ .90 LIST
T R1 = 4.7 Meg
- §nz R3 Rg = | Meq
T4 7 Ry = 2.2 Meg
T, . C; = 5000 mmf.
© Cy =50 mmf.

C;g = 2000 mmf.




CENTRALAB PRINTED CIRCUITS

o6 21 = ?.7 :AAeg PENTODE
2= eg .90 LIST
Rz = 2.2 Meg $
3 C1 = 5000 mmf.
Cs = 100 mmf.
C3 = 5000 mmf.
[ Ri=47Meg  pryropE
R2=1.Me9 g0 LisT
rs B e 04
C1 = 5000 mmf.
C2 = 100 mmf.
C3 = 2000 mmf.
ke owmer  VERTICAL INTEGRATOR
"F, "F, $1.10 LIST
Ri = 22K C1 = 2000 mmf.

Rs = 8.2K Cg = 5000 mmf.
R3 = 8.2K C3 = 5000 mmf.

= .0l mfd. Pc_-lo-l

= 2000 mmf.
C3 = 5000 mmf. VERTICAL INTEGRATOR

C4 = 5000 mmf. $1.25 LIST

Ry = 6.8 Meg PC'] 50

Ro = 470K AUDET
Rz = 470K OUTPUT STAGE

C1 = 2000 mmf. $1.00 LIST

Co = 220 mmf.

C3 plus Cs = 250 mmf.

C4 = 5000 mmf.

Ri = 6.8 Meg PC-II 51
Ro = 470K AUDET

Rz = 470K OUTPUT STAGE
C; = 5000 mmf.  $!1.15 LIST

Co = 220 mmf.
C3 plus Cs = 250 mmf.
C4 = 5000 mmf.




